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I found my ox in your pit - ONMOWN 79922 ORI NAN

Overview

The X713 states that XaX ' who rules that we are not 37°7172°K 7210 77W2n 7212
can agree with jn1 " who maintains that X1 22nWwWn X2 M2NWRY XD D,
However s'1"7 ruling is limited to a case where 712% 17°2n pX An7w MW, it is
only in that case that the 71277 %¥2 pays the pr1 ¥°27 which the an is "y,
because the pr1 claims my 9w died in your pit'. moon explains our X3,

— BYWYNT MNP 992 223 NN
And only concerning the =127 V2 does 1"7 maintain that he (the 1127 5v2)

pays; however by w2 and 77X where we cannot say that he found the 7w dead on
account of the 2w3, therefore even 1"7 agrees that in this case we do not say X327 11"
"M?nwKRY from the 171K, the pr1 should be paid from the “wa.

mooIn anticipates a difficulty and resolves it:

— T2y PO N9 1M TH Y97 2) by 9N
Even though if we were to assume that each 1 (the w2 and the 7MX)
does the entire damage, it would make sense to have the w37 9va pay everything
(including the share of the 1°71°X) just as the ™27 92 is obligated to make up for the loss
of the an, nevertheless -

— NAYV INNN MY NV Pa PYNY Y
It is possible to differentiate between the liability of a =, and the
liability of the =12 on account of this reason of 7°nmowx 71732 )10 (which is
applicable by M2, but not by )2

NvOIN continues:
— MHNIVYN T9°22 ININT QYL Y779 113 1111

However now that the X3 is aware of the reason of 7°nmoWR 79522 SRIN .

— Cow) 19903 1999NTI TaY RPITNT RAD 1N 1N D97 933 9201Y '8N
It is possible to assume that each of the 2’1 does only half a pr2 as the
X3 explains in 719977 P79, Therefore it is better understood why the w271 5v2 does
not pay for the 77X, since he did only (his) part of the damage, and we cannot compare

it to the ™27 %¥2 where the X720 of 7°PNOWX 77°22 °KMN prevails.
:OWN NItYa wIaN ‘0w

And 77'"1w2 I will explain the X713 there in 7757 p75.

! mpon later in 09w 1"12 (8,21 77) 71977 19 explains the 8720 of 7°NAWR 77°22 *R1N KIX (according to the
view that 7°2y Rp11 8379 °Xi) that since the 712 concluded the damage, it appears as if he did the entire
damage; that is why 1" maintains in that situation (only) (11277) *Riin 22nwn (QNAR) XA M2NWR? R *.
This X720 is not applicable by 7"712°R1 7w32; for neither caused the 7in°n 73 exclusively.

* See ‘Thinking it over’.
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* 091wY 7"7 maoIna. See footnote # 1.
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Summary
Even if we maintain 7°2¥ Xp°1i7 70912 °Ri1, we can still distinguish between the

case of M2 and the case of 111°R) Tw32; and certainly if we maintain X5 *X7
7°2Y XP°1, it is understood why 7°772°R 72313 17W2n 72 PX.

Thinking it over

If we do maintain 7>y X177 712 °&i1,” why indeed are we not 731 7wan 721
712K ? In 7997 P70 when we assumed that 72y Xp°11 79910 °R7, there was no
need for the X120 of 7°nNOWNR 77°22 °KMN and it was understood why the 5va
11277 pays 2°pon . What is the difference between 717°X) w2 and M1 Mw?!°

5 See footnote # 2.
® See nvn MR 1" WL
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